
Tir à la Cible avec une Boule de Neige (C)
Nom: Date:

Lancez chaque boule de neige à la cible correcte.

902
× 3

889
+ 476

328
+ 474

103
+ 959

977
− 236

444
× 8

471
× 9

340
× 4

891
+ 985

1449
− 868

2706 1365 802 581 1360 1062 3552 4239 1876 741
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Tir à la Cible avec une Boule de Neige (C) Réponses
Nom: Date:

Lancez chaque boule de neige à la cible correcte.

902
× 3

889
+ 476

328
+ 474

103
+ 959

977
− 236

444
× 8

471
× 9

340
× 4

891
+ 985

1449
− 868

2706 1365 802 581 1360 1062 3552 4239 1876 741
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